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Instructions for the candidates :

- _ ¥ 1. Candidate must enter his / her
i Yf"\afﬂ AHIE (10 AHT F7) Question Booklet Serial No.
Srava fordi 1 (10 Digits) in the OMR Answer

Sheet.

2. ‘R?HWT TYGNd A9 Wil § @ 2. Candidates are required to give their
Jue s/ - answers in their own words as far

as practicable.

3. e AR Eiﬁ'ﬁ w7 37 BV 3717.’#7 3. Figures in the right hand margin
ffez @#xd 81 "indicate full marks.

4. q¥l i’»‘? WFIR# %h & W 4. 15 minutes of extra time have been
Rl & 15 e &1 e a9y allotled for the candidates to read
fear mar &4 : the questions carefully.

5. ¥F 997 yieawr 5 GUST § §— @S- 5. This question booklet is divided into
uq @UE-a| two sections — Section-A and

Section-B.

[121/327 |1 [(A)-9003-I39) |  Page 1 of 32




U3 M T oo awpiag gy # F fm
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l;mifrr-r AT FHT FFLT U0 Tl
IO @ IV FUT Y OMR IR
vrE R 7 ma w7l bewen @ Se /
TR AT 97 W ooy @) fEer
WEIT & EFETAT / AT 92U [/ &
/ AET fE wr Fav-gfawr &
TatT AT R R, dwr  qeien
gfromsy amr=a @I

@Uvg-d § 30 g FHE ST &
(ysa [ 2 ¥ar laifes &),
# fEgl 1S mvAl @& AT AT
Ffard #1 3 iake, s§% G H
8 g Fvra wed Fro nad § (Wedd &
s sF snifta #), Em 8 et
4 97T &7 AT A

in Section-A, thore are 101) objeclive
tupe: (recshens { eurh  ogerang
1 mark) out o which any
50 ques’: v arr to be answered
First 50 answers unfl be evaluated
by the compuider in case more thav
50 guestions arc answered Darken
the circle with blue / black ball
pen angumnst the correct uptiun on
OMR Ansuwer shieet providedd to uo
Do not use whitener / liguid /
blade / nail cte. on OMR-sheet,
otherwise the result will bo
invalid.

In Section-B, there are 30 short
answer type qguestions (cach
currying 2 marksj, uut of which any
15 questions are to be answered.
Apart from this, there are 8 long
answer type questions (eich
carrying § marks), aut of whieh any
4 questions are to be answered

B [Fat seR & FEEiG@ JTEI H 8.
qIT Yoieay afad &

Use of any clectronic appliunces is
stnetly prohibited.
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Question Nos. 1 to 100 have four options
’

- . out of which only one is correct. Answer any
S0 questions. You

ha
ve to mark your selected option on the OMR-Shcet.

2

50x1 =150
-1 1-x" |

1N cos

(B) 2sin’'x
(D) tan™'2x

(A)  sinT'{ax® - 3y) (B) sin~!(3x +4x°)

(C) sin™'(@x- 4x5)

3. tan’! [:J%] =

D)  sin~}(3x° - 4x)

b4 n
[A}/ 3 (B) <6
T i
€ -3 D -<
9. sin(sec™! x+cosec” ' x) =
® 2 ® 0

e -1 o1




'l ".1—'5
5. 2tan” -3-*"‘" 7 8
(A -% ) 2t
n
(C) a3
1 2 4| g @
axfr [3 7 9 |
6. .:: 8 16 (B} 0 q#
P Y WS
(A) 23 o) ™
c 1 .
4 1 2 .
) g| is
The value of the determinant 2 g 16
® O
(A) 23 (D) None of these
(C) 1 .
b+c
7. arirs ; g c+a & AA €
1] ¢ a+b i
; +b+c)
(A) (l1+a+b+c) (B)/ (a =
€ 1 | o 0
1l a b+c|
The value of the determinant |1 b c+a| 1S
|1 ¢ a+b
(A) (1+4a+b+c) (B) (a+b+c)
c 1 D) O
7 11 13
8. ORI (17 19 23| W AHAFE
29 31 37
(A) -36 B 35
C 20
" O R

Bups .,
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The value of the determinant

Al -36
(] 20

9. T ,1=[_{ -:]iﬁ‘iAa:

(Al 3JA

(Ci 2A

It a=[, }

(A) JA

(] 2A

[# ]

10 HTER | h
g

‘}] then A =

h
b
f

}t

N

(A) Ty wafom s

[C) Ushis: =R

7
M

L

Matrix

{A} skew symmetric matrix

(C} unit

h g
b J|is
IC}

maltrix

7 11 13
17 19 21
29 31 37

{B)
(D)

{0

(D}

(B)
1D

(B8]

(D)

18]
(0]

11, 3FHe THE xdy + ydx =0 F 6 2

2

36

nonie of Lhese

1A

E |/ T FE

4A

none of these

T A w2 A%

symmeinc malrix

none of these

2
y 2 2
A LSk ® S-L =k
iy xy-k D] 39 | &1E
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Solution of the differentinl equation xdy +ydx =0 is

2 2 22 y2
(C) xy=Kk (D) none of these
.~ xl
12, oraedt e Y Lo o e
I
Y | X 4
\) ==k B) ==k
A2 (B) )2
(C) -§==k (D) ¥ | HIE T
Solution of the diflerential equation ydx — xdy —2xdy =0 is
: : Y
Y _ x _
A L=k B ==k
Y
(C) §=k (D) none of these

dy ' 2
13. 3 WS = + Py = O Hl FHHEH T &

w o S B elra
©) ejpux (D) E]Ody
Integrating factor of the differential equation -:—% +Py=0 is
d
(A) eI Qdx (B) ej Py
Pd.
o ol o eJod
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(A) 0 m
© -1 o J
- -
1S [xw z]=
- = —» - = =4
(A) |z y x] (B) ly x z]
-+ - = — -
© Xz Y] @ |z xyl
d x3,
16. -5'(0 )=
x3
(A) e B) 3x%e*
(C) /'.i.atgne."‘2 (D) 3x2eX
d X) =
17. =% log3™) =
(A) 51;, ' | (B) log3
(C) xog3 | - oy

d 1 x|
18. dx[sinx+e J-

(A) - 12 +e* (B) cosecx+e”
sin” x
X
(C) —cosecxcotx+ e* (D)  cosecx.cotx+e
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22.

-b

-p -
k![f\:_i}*‘

w0 | m o0

(€) h; (D) P
[1op2dx =

A} x+Kk B) log2+k
(C)  og2 +k D)  x?log2+k

s & w0 § A & TEE e e

Ay FeprE=o B Xediz
© =-2-%-0 (D) T ¥ HE A

x Yy z_ z
(A) a * b+ C 0 (B) % <
(C) f-%-%=0 (D) none of these

qd TEFS' q ﬁ"% (-3,-4,-5) & {ﬂ € https://www.bsebstudy.com

A) 6 ,' B) 52

(C) 50 (D) T H SR A
The distance of the point ( ~3, -4, -5 ) from the origin is

(A) 6 | B) 5V2

(C} S0 (D) nonc of these




23.  (—-4,-3,7) 3 (-1, 1,-5)F A znd
(A) 12 {B) 13
(€)' 14 D) 0 A wE
The distance between (-4, -3, 7 ) and (-1, 1, -5} is
(A] 12 B) 13

(C) 14 - (D)  nonc ol these

2. a5 At e, @ p(4)er(£)-

w0 B 1
c -1 | D) I q FIE Tl
If A and B be two events then P(-‘f‘—)+P(£)=
_ B B
() 0 . @
(C) -1 o (D) none of these
25. -9 (sin2x)=
. dx
| ' . cos?2
(A)  cos2x B) 5=
(C}) 2 sin2x (D} 2cos2x
26. -S-(tankx)=
) dx
' 2
(A) 30021\:1’ | (B) ksec” x
sec? kx | . (D)  ksectkx

c =&
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27, fix+2)dx=

(A)  (x+2’ K

2
(C) %+2x+k

3

28. 1‘ dx =
(A) 4
(C) 3

29, Jﬂﬂﬂ cosxdx =
Ay 1
(C) 0

30. Isiqx, cosxdxs=

(A) -21—sin2x+k

. 2
€ Ttk

31, ad?(logﬁh

1

A 2/x
1

(C) OT

d .
32. Ex—g(sanxJ =

(A) 4 sin2x
(C) -4sin2x

B Ttk

(D} iug[x + 2) iy

|B) 2
/

Dl 4

(D) )

(B) -1

Dy 2

B sigx +k

2

lD' CO; x+k
. 1

B —_—

(B) P
7y

D) ¥

(B) 4 4cos’2x -

(D) 2sindx

[ 121/327 |1 [{A)-9003-Tgs)
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dx
}A) e’ ! (B) (x - a)e
(C) et |D] X
34. fi%;_”‘_\-" ) =
)
[AI{, v (B) 12x?
(C) | REBY (D) 24
335. H({;(Jx" Fax + IJ =
.(f‘-l I r“"_‘—-—: La (B) 2x + @
2VxT 4ax+1 2Wx? +ax+1
2x +a
€ m— D) ——t—
x"+ax+1 7 adx? rax+1
36. a‘%(zeg-" ) =
(A) 2% B &
(C)  4de " (D) 2
37. %.(logx" )=
1 .
(AJ/P o | B n
1
© % o &

38. 3% A-{a,be},B={1,2,3} I f={(a,1),(b2),{c,2)} T [ FW Fe & ?

D) SFEE AT

(A)  Ue FHa:adt
D) TS IBES

(C) 3Tk TBIGH

(121/327 |1 [(AJ-9003-Ia9
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ar type of a
If A:ln.]j.el.[}:ll,g,:}l and f:”a.ll'(b.ZL‘c.gn then wha
function is f?

(A) onc-oncinto T (8)  many-ong into

(C) many-onc onlo (D) onc-one onto

0. 4R f:R >R, TE flx)=3x-4,7 () Frefafan & w7 0 2

A F(x+4) @) glx-4

(C) 3x-4 (D} s

If f:R »Rsuch that f(x)=3x -4, then which of the following is f~ (x) ?
(A) . 3(x+4) - (B) -%(x-—ﬂ)

(C) 3x-4 | (D) undefined

40. cosec™'[-x]=

(A)/ %— cosec™'x (B) nx-cosec”tx
(C) coscc™lx ' (D) - cosec !x
41. 4% A=[45“ ?].B:[lsﬁ _?].ﬁﬁA=B M« FARE
A 1 | -
(A) (B) Yy, 1
(C) 4 . (D) ¥ A A
If A= [45“ ?] B= [‘g ?], when A = B, the‘n the value of ais
(A) 1 B) -1
) 4 , (D) nonec of these

[121/327]1 (A)-9003-139) Page 12 of 32 —




42, tan '1=

(A) n
©) =
43.  cos(scc™! x+cosec™x)=
(A) l
(C) 0

cos@ —-sin0
% Isino cosO |=

(A) cos 20

(C) 0

45 cos2x i’ -
I(sin X +COos x)2

(A) 2log(sinx+cosx)+c

(C) log(sinx- cosx)+c¢

46. tan'VY3-cot™!(-/3)=
(A) =

(C) 27A

(B)

(D)

Z

(D)

(B)

(D)

(B)

(D)
- ®)

. (D)

(B)

(D)

Nl

o2

4.3*_.'.

log(sinx+cosx)+c

1
SINX+COS X

N =

3A

i}

[ 121/327 |1 |(A)-9003-I9)
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48.

49,

L1} ,
If A={1 | 1], then A” =

(A) 24 ) (B) 3A
C} 27A (D) nonc of thesc
a.a-
(A) O (B) !
=5 -
€ la] (D} lal

TR |a)=2 3K Aq ©F 6 SR @ L WAAL

B) =

2
et

(D) T 9 FIE TR

(A) ]
c 2

- -+
If |a]-2 and % a is a unit vector then A has the value

N
B 5

(A} 5
c) 2 (D) none of these
- -3 -’ .
xi+yj+zk & ATE§
A)  x2+y?+2° | ® V2 +y? 4 22
C) Jx+y+z (D) . 12
| Jx +y? + 22
-» -» -
The modulusof x i +y j+zkis
(A} x?+y?+ 2 (B) sz +y? + 22
1

‘C] Jx+y+z . [D) #
2 2
Xy’ e g2

.|




sec X

dx=

>1. .rsecx+tanx

(A)

tanx+sccx+ Kk

(C) -~ secx + Kk

532, 1-cos2x 4,
1+ cos2x

(A)

dx

tanx+x+Kk

(C) x-tan? x+k

53. Icnt2 xdx=

(A} cotx—x+ Kk

(C] —colx-x+k

54, j:xdx =

w3
© 3

@ -1

(B) tanx—-secx+k

(D) tanx+ k

(B~ tanx-x+k

(D) lan-‘%-rk

(B) 2 cot xcasec2x + k

(D) X +cotx+ K

4
(B) 9
o 3
B’ 2
oL 3
(B) 1
o 3

[121/327]1
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S7.

59.

60.

61.

62.

| 14170417 |1 [\-ZVvumivy |

dx
Dx+1"

(A) / log2

(C)  2dog2

J:; - logeot0.do=
(A) -%lug2

(C) 2nlop2

Ix/;’ | |d
cosxljax=
-x/2

Ay 2
€ 0

/2 cos0
- =
Io cosD+sin( d

(A) x

T

(C) 3
d 2,
a?(umx j=

(A) sce x?

(C) 2x? sec? x2

-ad;- Jcotx)=

1

1A 27col X

2Jcot x

(B)
(1)

(B)

(D}

(B)
(D)

(B)

(D)

(B)

(D).

Tagv v Ui v
4

FC

N A

EN B

2xgec? x2

Secx
2x

cgsec?x

CO8EC™ X

2Jcotx



d, . -
63. a—{sm '(3.:-—4.&'3]]; --—%st-‘i
(A L 1
(8)
I—*.\z - ﬁ_‘ax_4x3}2
(C) S 2
- x? (D) | = x2
64. Eci—_{sinﬁlﬂ
{A) cos Jx (B) cosJx
Jx
: .
C —_. 1
(C) /JI cosvx (D) z_ﬁ'cos x
d =] _
65. '&—;[zldrl x)=
(A) L ® . 2
1+ x2 1+ x2
1 1 1 1
C =, D —.
© 203 A
d lim x" —a"
66. dx{-"""‘ prompm }-
| -1 1
(.1) na” (B)
©
67. .i{sin'l Jx +cos”! J; )=
dx
n B O
A8 3
'rt
X .=
o 1 o) Vx.3
Page 17 of 32
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68. dx__
x-1

(A) log)x+1]+k

(C) log|lx-1]+k

By -logll+x|+k

(D) logx+k

dx

69, HaHA THFI (ﬂr+2[ﬂ)3+gy= sinx I FNE &

B) 4

(D) T A AE A

dx

: . d? 3 dy\ .
The order of the differcntial equation [-——51] + 2(—-‘5"—] +9y=s8inx1s

(A) 3

x%+1
xa
‘Aj —3—+2x+k
3
X
© Frxek

dx?
(B) 4

(D) none of these

B} Z--2x+k

(D) %-—-x+k

@ t‘.ﬂﬂ

1 X+

x+]
71. !?F"'mal.m:i:l HEH’ c% x+ o2 1 |=01 x=
. .

(A} O

(C) ?

(B) W,

(D) i*ﬁ%ﬁﬁfwﬁ-

[121/327]1
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3 X+ ] m m2
Muzl, o= and [ ¢ 4,07 1 |=0o li“:
b)z I. X+ nx
{A
} 0 | B)
(C) 2
(D) nonc of these
72, -jcosa - sj > \
trﬁ A-‘[Bintl CQI;:] HIT A -+—A'=f2, Gl =
A n B =
3
3n
< Z (o) 2
_[Cosu -sing
’ (A) n B - &
3
3n
© 7 | S

73. AUF T NEE R @ A+ A GV E AT

| A AT e (B) Taum waiy aneE

) THE FTE- (D) Yrd &ILE
A is a square matrix, then A + A’ is necessarily
(A) a symmetric matrix | [B) askew symivctric matrix

(C}]  a unit matrix (D) azero matrix
a | 1 O afir 42 - . @l 3=
74, AR A=B‘ ‘13'] B=[2 1] :ﬂﬂ A2 =g, @l A=

a -1 B 1 .
© 4 . b THIRRE

[121/327 )1 (A)-9003Igs) | Page 19 of 32




0
If /I=[} ?] }a‘:[é l] and A? - B.tl!cn %

Ay -1 . B 1
(€ A4 (D)  none of these

75, afg A=[(', ?],?h

(A) Al W aaa . (B) |Al=0
€ Al R T D) T A HE =

If Az[(l) ?], then

(A) Alexists : (B) | Al=0

(C) A ' docs not exist : . (D)  None of these
76. [wdl 761 T &G 1S WIar i FE&AT €

(A) 1' B) 2

© 3 . D)

The number of unit \'cc';'t)r(s] perpendicular to a plane is

(A) 1 , (B) 2

€ 3 | (D) infinite

¥ - - - - - = =
77. A a=2i=j+2k AR b=-i+j-k,d
- - =
a (B) a.b=-5

o)
"
(9]

A

A

D) 71 A9 T

el

S
N
o

(€)



-+ L =
Ha=2i-j+2k angd -‘t:n -*T'l'-}*-k’dhcn'

(Al a.b=5 @) a.b=-5 .
(C) a.b=0 (D) none of these
78. |aaal=
(A) | ({I3) 0
€ a D) -1
79. _; X E =
(a1 ® 0
gt
o 3 o -]
- -
80. axb=
- =
A} bxa o e
. - =
€ a.b o B
1 X —
1. [ e*dx
(A} L (B) e+l
© e-1 | o e
d lim 1 ]=
82. ‘d‘;[ x;ucoaax | .
) 1
(A) -sgin3x ® 0
D)
) -3sindX |

(121732711 (A Q003-Tun | Pase2! of ¥



83,

84.

85.

86.

87.

88,

A (vx)-
1
o A =
c -
2Jx
cos ! '.Z_t]+si|1“](2xl=.......
i ¢
(A) 5
(C) hid
sin~}-x} =
(A) %—sin"lx
(C) -sin"'x
col_l-l—=..............[x>0}
X
Al -cotlx
(C) tan ' x
10 2|_
35 7
(A) 140
(C) 35

w33,
© [33

\._

B HYx
o 300
v 2x €| =1, 1]
r
B 3
m O
>
(B) sin~! x
(D) %+ sin”! x
U g |
B) tan”
(D) cot V x
(B) 70
(D) O
® |3 3]
(1 1
o (1]

(121/327 1
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A 5 {B)  x5x-!
sx
< oR S5 (D) 5%.10g, 5
(| n
90 I.. Q(x)dx + ]" (X)dx =
5 n
A 2f o) dx B 2f i) dx
w0 D) 1
0. I alib,Ma.pa
'A’ 1 (B, -]
€ o (D) T A F T
¥ ad B ihen 2.0 s
(a) 1 . B -l
() O (D) None of these
- - -
92. i.({jxk)=
(A) O B) 1
€ -l D 2
93. I logx&- ;
(A) -:l'c'+k (B) xlogx+k
(C) xlogx-—_x-bk (D) xlogx+x+k
(A)-9003-I(39) Page 23 of 32
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a2

9q. n =
N o B
© -1 o n .
Yo I &,

95. U TRET Y@l x, y 3N 2 3187 ¥ vy Fagn & A B o, pIT Y

. P

(A)  cos?a+cos?Pecos?yrl=0 . (B) ginZ a+sin? p+sin” 7
2=

244 cos?reos 11

y and z axes

(C)  cos®a+cos?f+cos?y=1 (D) cos

Il a linc makes angles a, fand y with the positive directions of X
respectively, then
. . . - g
(A) m52a+cosgﬁs+cns27+1=g (B) 5.;_12(1+31n2ﬁ+51n y=1
2=
(C) cos2a+cos? B+cos?y=2 (D) - cos? u+cos? p+cos” Y= 1

96. WA TE@H 2x=3y=-2z AN 6x=-y=- 4z F A F FIUT &

w5 B O
© ¢ o %

The anglc between the straight lines 2x=3y=-2z and 6x=— y=-—4zis

(A) B) O

N[

(C) (D) % -

o=

97. 4K A, B SﬁTCFﬂ?ﬁﬁiﬂﬁTﬁﬁﬁ’f

(A), P(ABC)=P(A)+P(B)+P(C)
(B) P(ABC)=P(A)-P(B)-P(C)
(C) P(ABC)=P(A).P[B).P(C)

(D} ¥H ¥ &g =g

[ 121/327 ] I (A)-9003-]ay) Pagc.




If A, Band Carc three independent cvents then
(A} PIABC)= P(A}+ prn)+PLC)

(B) P{ABC)=P(A)-p(m)-P(C)

(C)  PLABC)=P(A), p(R).P(C)

(D)  none of these

08. P(A)+,n|:.ﬂ.'}.:

A

(A) O. _5?! 1
C -

- 1 (D)  P(S)

Q9. 1-P(A'NB'}=
(A) Plﬁ_lﬂBlt (B) P[AUB)
(C) Pll/{) (D) P(B)

100. Z:Bx;4yﬁaﬁ%ﬁﬂﬁl

ﬁﬁf&?sqafﬁ;x+y$4

x20,y20
¢
Ay 0 B 12
€ 16 ) T
The maxlmum vaJue of Z =3x+4Y

"
subject 1q consu‘amts x+ys4
| : x20,y20

y 12
A 0 (B)
. ' (D) none of these

(C) 16"

[ 121 /32711 |(A)-90—03-1{39ﬂ Page'_z_'s'afaz |



g - / SECTION - B
oy IWAT W / Short Answer Type Questions
T wear 1 @ 30Hﬂs‘ﬁg3‘ﬂﬁv#:ﬁﬂ‘#ﬁﬂ? 15 9wt & v 34

2 3¥ Fuiffa &
Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each question
*15x2=30

gd® @& forg
15§ x2 =30

mes 2 marks. https://www.bsebstudy.com
2

1. HHTHET B Icoszxdx.

Intcgratc Icoszx dx.

2
2. g% fyerTet, 579 y = sin(log x).
Find -‘-iﬁ when y=sin(logx).
- dx'
2
3,/ 7 & &< : xdy + ydx=xy.dy.

Solve : xdy +ydx=xy.dy. \
. — dr.
4. ‘qurRer e [J1-sin2x

Integrate I ]-sin2x dx.
2

cos(log ) g i FF T P
5. Io x -
I"_C,_‘?_s_‘_lggf-)-dx.

d the value of ;™ x )

Fin



7. Y ferepre
dx t:'r_ :,FFET X=q l:,‘tmzn. TEL! sin? 0,
i ' ) 2
o

’
{

Fina 34
| "“l dx’ s When xeqgeos?n, 1= =aain’(,
8. TG 24 4,2 2 | .
‘ X744t =3 GH 'F-.rq .42 ut g Femet ) 2
Find the slope at the point [l,ﬁ] of the curve x4 y? =3,
9., - ?}"1' b-¢c c-a
AR (b ¢ c~a q-b| = T Fee 2
€-a a-b p-c

— b—c -
Evaluate the dclcrminant ?J -E c-—d ;'?J .
c—-a a- b-c

2

10. T9€ T 6 wfeer (5,4, anﬂt(z 1,-3) TF G W 7 &

Show that the vectors { 5, - 4, 2)and {2, 1,-3) arc perpcndxculdr to one

another,
— 7 * w . |
11, “axb fmel, s®ifr g =27 -3k, b-31+4]. 2
) - - - > - -
Find a x b, where a =2i -3k, b=31+4].
~ - I - S g a N -
12. X @ =(2,3,-5) IR b =(2,2,2), T FEW o AT b & 4T T B FA R 2

- -
If @=(23-5) and b =(22.2). then find the angle between the veclors

Zandz{
11 12 2
5 et g8 20 2|0 )
e |B 1 Beo
- Prove that 25 4 20
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'4-/{-‘;4 el @ y=vaindx " 2
X

Find %%. when yn\‘ain&.

. . 2
15, Y Pl v oS0t 2
S dx ] Y Jeosx
.2
Find -ﬂy—. when y=m.
dx CO8 X
16, % ® [:R - R onto & Ak f(x)=2x ? HRT 3| 2
‘_//
Is the function f:R —» R onto function where J(x)=2x ? Give reasons.
17. Teg=ifs sin-‘-—J.J—f;:=mn-1 £ . 2
x
Prove that sin™! 1|{"(_Laét.an'l E .
_ X+
18 fag =t & tan isin'l-ﬁ—+lcos.rll-x2 2X_ 2
' _ 2 1+x2 2 1+x2) 1-x2
) 1.1 2x 1 11-x2]__2x
Prove that la.n(-é-sm W-f-zcos 1+x2)_l-x2'
 lim N\~ 2
19. 1A et Jim 2—3-. | ) :
ra=lf :
. i r2
, Evaluate ,:'_Tw Z—a
rallt

20. 3 AR T y=sinx%5ﬁﬂx=0'ﬁx-nﬁ$$$ﬁ7ﬂﬁﬂqﬂﬁﬂﬁl 2

’

Find the arca between the x-axis and the curve y =sinx, from x=0to x = x.



21. m .
Y, “‘“yd"*'“\nxay,o
' 2

S .
O]VC . lanydx‘ lanxdy =0 2
SOl e | - |
\Y y(l + Xyldx xly=0 2
2 — |
3. BFI ﬁ N ! +l=e
dx '

d
Solve : E%H-:e“y,
24 faeoEy R
5 Hﬁﬁv‘(a«\b).(:-zhaz_bz_ 2

- -
Prove that (a+ b).(:~g) =a?-p?.

> 1 1
25. 'Q'&Az[x y}.ﬂ’im'mm’lﬁw-! 2
x? 2
Yy
1 1
If A= x y |, then find AA'.
x2 y2 '
2

5‘6//’ ﬁwaxmqﬂmaﬁfm

"ir,m‘. 2x-y 5)_(6 S
: 3 y) \3 -2)-

Find the value of x from the following :

(5 36 -9

i
16 9 7
07.. QR (23 16 7 FT H 00 HL |
2 32 19 13
; 16 9 7
" Evaluate the determinant gg }g 173 .

o

—— e e
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28 WE WA TI o W g 3w 9 VTR

R T w45 M 60° H
T R 1T

» AT ) VTR from & Y e @ e ? 2

A straipihi line miakey nanples of 45° and 60" with the |mﬂi|i\'c direction of the
vand y-axes respectively. What angle does it make with the positive dircction of
the 7-uxis ?

e TR T AW oy, i, W s B 3, 4 a
-5y 2
Find the cquation of the plane whosc intercepts on the axcs of x, y and z are
respectively 3, 4 snd - 5. _

30. 3k "’”“'"E' P(B)-E LR Pmnm:-‘?.?ﬁ P(%',) ; p(%—) e | 2

If PM)--%. P{B)= 3 and PIAN B)=7. then find P(-‘E;J and I[%)
T T W / Long Answer ‘l;y-pe Questions

mmmﬁaazniﬂﬂum%lﬁﬁﬁﬁﬂuﬁ%mzlﬁaﬁafﬂq
s 3= fagtfa ) -

. , 4x5=20
Question Nos. 3] to 38 are Long Answar Type questions. Answer any 4 questions. Each
question carries 5 marks. 4x5=20
31. tr%: l:tn-lxvlm't_y.-btan"z;%,ﬁf&%’ﬁﬁﬁﬁ Yyz+ zx+ xy=1, 9
If tan~! x+tan™ y+tan™! z=-%. then prove that Yyz+ex+xy=1,
(b+ c]2 a* @’
32, AEs R | 02 (cra b2 5
. c? c® (a+bP
(b+c? a? a?
. - 2
Factorize | b° (c+a)® b°
(?2 (:2 (a+ blz
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Tay;

e —j-rﬂ—,“-! i"—i". |L4f“_| . _[_*"I'..“':

Prove that (Af)

1 1 1
-5 'A""  where A=|1 2 3|, 8=
I 9

J
3¢, Y prs .
. dx . e xy+y =] .
Find -d-‘q- when x¥ ¢ ]
dx’ y
15 dHIEAA T j’mn“xdx
1 94
ntegrate Imn xdx
36

" , 5 d
Gl STy
(X y}dx 2xy

Solve « (x7 - yzlg% = 2xy
37 a1 3x+4y-52z=2 F AE f‘«i-_fi (3,1,-4) & ufatena 77 FTT |
Find the image of the point ( 3, 1, - 4 ) with respect to the plune
3x+ 4y 5Sz=2
38 SEnE

s AHFCN UG “TARHET HE

r

£ - 5x + 10y

AR v+ 2y < 120

¥ o y -~ 60
X, >0

W {A)-9003-Ipy,
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Maximize and minimize Z - Sx o 10y

subject (o X+2y<120

X' y>60
x 2u>0

xny=0.
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